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Sample Paper – 2008

Class – X
Subject – Mathematics
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5300 = 2730 + 30f; +70f,

30f, +70f, =5300 - 2730

30f; +70f, = 2570

53

3fi +7f, =257 .
Also, fi+fy=100-15-21-17 e (@)

fi+f, =100-53 ‘

h+fr=47 : "

Multiply equation (ii) by 3.
. 3f, +3f, =141
Subtracting equation (iii) from equation (i), we get

3f, +7f, =257
_3f1 + 3f2 =_ 141
, 4, =116
f, =29
f1 =18
OR
Class interval Frequency (f) Cumulative freque
0-100 2 2 e
100 -~ 200 5 7
200 — 300 9
300 - 400 12 ;Z
400 -~ 500 17 45
500 -~ 600 " 20 65
600 ~ 700 15 80
700 — 80C 9 89
800 — 900 7 96
900 -£ 1000 4 100
We have,. (ﬂ) = 100 =50
_ 2) 2
So, median-lines in the class interval 500 - 600
Here =500, h=100, f=20,c.f =45n=100
n
——cf
Median = [ + 2 x I
f
=500+22=% 4100

- 5
=300+§6>(100:500+25:525

MODEL TEST PAPER -1

General Instructions: As given in CBSE Sample Question Paper - L.

w

w » 3

11.

12.

13.

14.

15.

_If the mean of the following distribution is 2.6, then find the value of y.

Section — A

. -
Find the value of k for which equation 3x~ +2x+k=0 has real roots.

If the product of zeroes of the polynomial f(x} = ax3 - 6x2 +11x - 6is 4, then find the

value of a.

Show that : - L

————.—-—+————.-——=25eC29
~-sin® 1+sin®

Without actually performing long division, state whether the rational number %?5— will

ting repeating decimal expansion.

have a terminating decimal expansion or a non-termina
10 cm. State whether it is a right

The sides of a triangle are a=6’cm, b= 8 cm, and ¢ =

triangle or not.
A sector is cut from a circle of radius 21 cm. The angle of sector is 150°. Fin

its arc.
An unbiased die is thrown. What is the probability of getting a number between 3and 6.

The nth term of a sequence is 3n— 2.Find its 10th term.
In an isosceles triangle ABC, if AC = BC and AB? =2A

d the length of

C2, Prove that £Cis a right angle.

3 4 5

Variable: 1
Y 1 2

Ul o

Frequency: 4

Section — B

Solve the following system of equations graphically :
x+2y=52x-3y=—4

Also find the points where the lines meet the x-axis.
Without using trigonometrical tables, find the value of:
tan 5° tan 25° tan 30° tan 65° tan 85°

Prove that the tangents at the extremities of any chord make equal angles with the chord.

. R
Prove that the area of the equilateral triangle described on the side of a square is half the
area of the equilateral triangle described on its diagonal.
1000 tickets of a lottery were sold and there are 5 prizes on these tickets. If Saket has
purchased one lottery ticket, what is the probability of winning a prize ?
Find the lengths of the medians of a AABC whose vertices are A (7,-3), B(

C(3,-1.

5, 3) and
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16. Find the value(s) of k for which the system of equations :

. The area of an equilateral triangle is 4943 cmz. Taking each

kx —y=2
6x-2y=3
has (i) a unique solution (i) no solution.
Is there a value of k for which the system has infinitely many solutions ?
OR
=2

Solve : +

S
S

ax —by =q? -b>

. Prove that 3 + 245 is irrational. ‘
. If the coordinates of two points A and B are (3, 4) and (5, —2) respectively. Find the

coordinates of any point P, if
PA = PBand Area of APAB =10.

A

. If the areas of two similar triangles are equal, then prove that X

triangles are congruent.
A OR
If figure, XY || AC and XY divides triangular region ABC into

two parts equal inarea. qy i AX

angular point as centre, a circle is described with radius equal to half
the length of the side of the triangle as shown in fig. Find the area of
the triangle not included in the circle.

, OR
A well with 10 m inside diaméter is dug 14 m deep. Earth taken out of
it is spread all a round to a width of Sm to form an embankment. Find-
the height of embankment.

. Solve the following system of linear equations's

2(ax 7.by) + (a + 4b) =0;
2(bx +ay) + (b ~4a) =0

. A two digit number is seven times the sum of its digits and is also equal to 12 less than

three times the product of its digits. Find the number.

. If A+ B=90° prove that

tan Atan B+ tan AcotB sin? B
sin AsecB cos® A

=tan A

. Construct a tangent to a circle of radius 4 cm from a point on the concentric citcle of radius

6 cm and measure its length. Also verify the measurement by actual calculations.

. A poinPisatadistance 0f /10 from the point (2, 3). Find the coordinates of the point P if its

y coordinate is twice of; the x coordinate.

Section — D

. Two trains leave a railway station at the same time. The first train travels due west and the

second train due north. The first train travels 5 km/hr. faster than the second train. If after
two hours, they are 50 km apart, find the average speed of each train.

27. A carpenter makes stools for electricians with a square top of side 0 Smand ata height
| -5m above the ground. Also, each leg is inclined at an angle of 75 to the ground. Find the
length of each leg also the lengths of two steps to be put at equal distances in metres correct
up to two places of decimals. :

28. The height of a cone is 30 cm. A small cone is cut off at the top by a plane parallel to the
base. If its volume be > of the volume of the given cone, at what height above the base is

A}

OR
A golf ball has diameter equal to 4 .1 cm. Its surface has 150 dimples each of radius 2 mm.
Calculate total surface area which is exposed to the surrounding assuming that the
dimples are hemispherical.
29. 1f the mean of the following frequency distribution is 188, find the missing frequencies fi

the section mode ?

and fz.
Classes: 0-80. 80-160 160-240 240-320 320-400 Total
Frequency: 20 s f1 f2 10 100

30. Prove, if a line is drawn parallel to one side of a triangle intersecting the other two sides,

then it divides the two sides in the same ratio.

‘ OR
Let A be one point of intersection of two intersecting circles with centres O and Q. The
tangents at A to the two circles meet the circles again at Band C, respectively. Let the point
P be located so that AOPQ is a parallelogram. Prove that P is the circumcentre of the

triangle ABC.
Answers
1 2 4. Terminate 5. right 6. 55cm
L ks 3 . a= 3 decimal triangle
1 8. 28 10. y=8 11 (5,0, (-2.0) {40, 1
7. 3 ﬁ
10 L 15. 5,5, Y10 units | 164) k= 3G k=3 |18 P=(7, 2) 19. or 2-1
" 200 No orx=a,y="b RN
20. 7.77 m? or 21. x = _‘_1 v=2 22. 24 25. (3,6) 26. 15 kin/h, 20 km/h
h=4.66m Sy=TgY '
27. 1.5529 m 28. h=20cm or 29. f; = 15,/ = 30
71.68 cm”
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